
I was working yesterday (My friends) 
My friends weren't working yesterday 
 
 

Maria wasn't reading a newspaper (We) 
We were reading a newspaper 
 

 
 

The children were eating breakfast (I) 
 
We weren't doing our homework (Henri) 
 
He was watching television (We) 
 
I wasn't wearing a hat (You) 
 
The president was eating cherries from Céret (His ministers) 
 
You weren't listening to the teacher (I) 
 
We were swimming in the sea today (Maria) 
 
They weren't  playing football (We) 
 
They were running very fast (You) 
 
You weren't working very hard (The students) 
 
The weather was pleasant last week (Our holiday) 
 
The girls weren't eating ice cream (Joe) 
 
I was living in London in 1970 (My parents) 
 
Jack wasn't waiting for a train (Tim and Kate) 

I wasn't eating breakfast 
 
Henri was doing his homework 
 
We weren't watching television 
 
You were wearing a hat 
 
His ministers weren't eating cherries from Céret 
 
I was listening to the teacher 
 
Maria wasn't swimming in the sea today 
 
We were playing football 
 
You weren't running very fast 
 
The students were working very hard 
 
Our holiday wasn't pleasant last week 
 
Joe wast eating ice cream 
 
My parents weren't living in London in 1970 
 
Tim and Kate were waiting for a train 
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